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1.Apart from the methodology, what other factors can contribute to the success of a project? (Choose 

three.) 

A. The proficiency of the project team with Pega 7 

B. The number of resources assigned to the project; bigger is better 

C. Collaborative teams working towards common goals 

D. The support from the enterprise, including end users 

E. The size of the project; smaller is better 

F. A strict and rigid change control process 

Answer: A, C, D 

 

2.Select the activities that may occur during Project Initiation? (Choose three.) 

A. Business and Systems Architects meet with process owners in DCO sessions. 

B. QA begins to develop their test plans and strategy. 

C. The Lead Business Architect and the process owner capture detailed specifications. 

D. The Project Manager identifies and organizes the staffing models for the project. 

E. The team begins investigating potential process improvements and re-engineering. 

F. The business and project team perform a walk-through of the current process to identify its state. 

Answer: A, D, F 

 

3.When an organization does not use a methodology, or allows different methodologies on the same 

project, the result is usually: (Choose two) 

A. longer schedules 

B. lower costs 

C. bigger projects 

D. increased productivity 

E. higher risk 

Answer: A, E 

 

4.Which statement best describes the term velocity in the Scrum methodology? 

A. The number of story points a team can complete in one sprint. 

B. The rate at which the team resolves issues at the end of the sprint. 

C. The rate at which the team can refresh the backlog. 

D. The number of sprints needed to complete the release. 

Answer: A 

 

5.In a Scrum methodology, which sentence below represents the correct form a user story should be 

written in? 

A. The value this <actor> provides will be made possible by building this <capability>. 

B. As a <role>, I want to be able to <capability>, so I can <value added>. 

C. I want to be able to <capability> in my <role> so I can do my job. 

D. An <actor> should be able to do the following <capability>. 

Answer: B 

 


